Hillel Academy High School

Grade 9
Surds
1 Smmplify:
a 32472 113 — 8/3
¢ 6v5-T7V5 -2 +242
e V3-(2-3) —v2 - (3+2)

g 5vZ2—-V34+v2-3
i 3v3-v2-(1-v2)
k 3(v3-v2) - (vV2-3)

Simplify:
a (V3)°

e (V7)?

i (VB)?
Simplify:

a (2v2)

d (3v3)

s (2V7)?

i 3v2Z x4y2

m (—4/2)%

P (—2v3)(-5v3)

Simplify:

b (V3)®

f (VT)°

i (Vo)
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5v/3 x 24/3
(-7Tv3)?
(—24/7) x 3v/7
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VT =224+ /T=2
2Av3 +1) + 3(1 — /3)
3(v3-1)-2(2-+3)
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¢ (2v3)%
f(3v5)°

i (7v10)?

I 7v2 x 5v/2

o v2x(-3v2)
r \/ﬁx{—ivfl_l}
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5 Simplify:

a v2x+3 b 2 x V7 ¢ V2 x V17

d V7Tx3 e 22 x 53 f (3v2)2

g 5vV2x T h 2v6 x 35 i =52 x 27

i (=T x (—2v3) k (2v3)2 x 25 I (2v2)3 x 543

6 Simplify:

a ﬂ b ﬂ c @ d V2
V2 V27 V3 V50

e V5 f V5 g ﬂ h ﬂ
V5 V5 V2 V60

| 3E G G N
V2 V3 V24 22



